BMOH N R E

aF 3 11H

HRA A E AR A RS

ST EHT



1. RESEEL AN B E

2. B4

B =

SR ~ P4 A A ) SR A

HCALAKIET B B HUE Y v X BT

(H)

(ALl S LR HIESE S TR NI NS 2T

(E)

A fo UL HIS R A P 2 M S B R

()

(F)

()

(F)

(H)

(F)

(H)

(E)

4. MELHNE

FAEAR—Y 7 360m

AR — Y o AT 360m

FEYEE AR 360[]

LKA R 44[m]

TBKIERIE 12 BT

TR B 1K

P AT LY. =

E LR R T — 2 ~— 2 fE 15K

FEhiFHAET I A 1. 04km

AR AMENT A 1. 04km

M FE 1. 04km

MM EEA 1 T 1. 04km

AR EO/ER 10

5. #i Eil

B Af 34 120 30 ~ B A 4

8H

29H ( 270 Hf#)



B A N & P- 1 H
A4 |ﬁ§ﬂ§§ B EOE ST ~ P H R W AR A
™ & - % Moo B BN iy &  F i 2
TV R S
1 R A = 1 32, 394, 562
SAER—V T kLS Vs 6 66 mm $REFSH A—narF Vs m 30
FER—V S W E L ¢ 66 wm ETFSH A—NaFVY s m 121
HER—V 7 BHECY I ¢ 66 mm $EFS FA—nrar Vs m 85
HWER—VU T e ¢ 66 mm $AETH A—nAarlos m 124
IEMEE AR  RhPEE - 2oL B [E] 30
AR AR - WEL =] 121
EHEE AR BORU Y +/) ] 85
EAEE A GRER  WCe [5] 124
LK gy i [=] 44
HAERIE T AT 12
T RRER i OB BRIk =X 45
TEEER oSk ERER Gk Y= 45
TERE HOREREBRTE (500~ HT) 3B, 5ke LT =X 45
TR oo R 5 1 Y- 45
TR L OURIEBR S - MM BRI AR 5 1 - 14
TERER L o—EhEiERER s e TY—2X 14
HERER oo EERERITE Y= 14
TR L oIEEIEPEK (UU) =l iR 5 TY—2X 39
SRR 1 D — B A R ) =X 33
BRSO LR TY—R 33
AR E A D E KR TY—2 33
S ATERER ety O — B Af50 SR U =X 18
s R (FIRISAZY) EV 1
Hefl K O A5 1 =, 1
GG RS (X 0. 3 mif) [ESIB 14
SRR R R &P 8
B3 PN /N Hh A 22
AR oy 1
BhRA N 1 15,014, 471
E HHIR ST — % X— AR E = 1 44, 000
[E - M i — & N — 2 E 1
A - HY - 15 = 1 4, 405, 613
TEHERAE - BY - HRE EV 1
HTSEEs - AR =, 1 1, 675, 487
EhiRA R (A) km 1. 04
AR FENT (A) km 1.04
HgHE: R 1,71, 000 ik - [k km 0.92
HEZHEE fR 1,1, 000 il km 0.12
MIPMEREE FEEE MR 1.1, 000 i - FEH km 0.92
MBS SEMEEE M 171, 000 @l km 0.12
AR —V TN m 360




& R E p- 2 H
A4 |*§@2§§b$ié SR T ~ T S S Y E R A
T f& 4 N M BN iy &  # i H
Hifr¥y Retirag EN 1
FITERS - EEERT = 1 71,772
Ay sm# - Y - fHIAE =X 1
Z Ot AT = 1 902, 185
— A PR A N 1 1,421,910
aat = 1 55, 930, 000




